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Time Value of Money

The formula for the "Time Value of Money" (TWYM) forms the basis for many of the
most common financial transactions we take for granted each day. TVM explains
why a dollar today is worth more than a dollar in the future. TVM is why most of
us don’t keep all of our money under our mattress. We understand that inflation
will slowly erode the value of the savings over time and it's a better idea to invest
the money in some vehicle with the potential to generate interest like a stock or
savings account.

While the evidence is not definitive, financial archeologists believe that Leonardo
of Pisa, commonly known as "Fibonacci”, was the first person to publish the
formulas that have evolved into what we now know as TVM. It should be noted
that much Fibonacci's work was built on top of prior work by Arabic and Indian
mathematicians.

Fibonacci published his work in a book called Liber Abaci in 1202, Given the
period in which he lived, its no surprise that Fibonacci's work focused on
everyday mercantile issues like the TVM, interest rates and foreign exchange
rates. Fibonacci published his work at a time when Italy was a collection of
independent city states, each with their own currency trading with other
merchants from Northern Africa, China, the Middle East and other parts of the
Mediterranean.

Liber Abaci also included groundbreaking research into another area of
mathematics that should be familiar to today's technical trader. The Fibonacci
Series is a sequence of numbers where the each number is the sum of the prior
two numbers in the series (1, 1, 2, 3, 5, 8...). While the series itself may not seem
that exciting, the quotient of sequential numbers is always 1.618 or the inverse
0.618 which is more commonly referred to as the "Golden Mean". The Golden
Mean is found throughout nature and human endeavors. In nature the number of
female bees in a hive divided by male bees is always close to 1.618 and the
Golden Mean can also be found in the spirals of a nautilus shell. The Golden
Mean is also prevalent in modern and ancient architecture. Perhaps the most
famous example is the Parthenon in Greece whose proportions adhere to the
Golden Mean.

The Fibonacci Series also has a place in modem trading. Many investor use Fibonacci
numbers in technical analysis to generate lines of support and resistance in stocks.
According to Investopedia, the most popular Fibonacci studies are arcs, fans,
retracements and time zones.

hitp://post.polls. vahoo.com/guiz/financeresults.php
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